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7 100kN/mM##BZ % — - ~ — — |3mZEBZ D - ~ — — — | 100kN/mMZE#BZ % — -~ — —|3mZzEZD - ~ — — —
Thsh 1.00 1000 ~ 549 68.56 | Fhust | 0.00 ~ 549|211 11.27 zhLlst 1.00|500 ~ 769 68.56 | Fhst | 500 ~ 769|211 11.27
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100kN/mM##BZ 5 ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ Zhs ~ ZhLlst ~ Ths ~
100kN/mM#%#BZ % ~ ImEHEZDL ~ 100kN/m%#BZ % ~ ImEEZD ~
Thsh ~ ZhLs ~ ZhLlst ~ Thsh ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZhLsh ~ ZhLs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZhLs ~ ZhLs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
ZhLs ~ Zhs ~ ZhLst ~ ZThst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
ZhLs ~ ZHhLUS ~ ZhList ~ Zhst ~

B
H
&



